2012F v LU UKIDSTEZERER HT3)—B(3-444%)
#AIESL No K4 FHh | R FH 4 BERR | EBHES
1 2 | #MHE ZEB | 9 | B INKINER (BIBR) | 0:16:24.21 | /MESE
2 4 R 9 | B FAIFE/NEAR 0:17:20.79 | /N3FE4E
3 8 HIE B 9 | B RE R /NEAR 0:17:27.10 | /MEHE
4 | 23| dhih = 10 | & TEE/INER 0:18:02.70 | /%A
5 18| #HE EJ | 10 | B BIRINER 0:19:03.82 | /ME4LE
6 7| e B®E | 9 | B BRI HE /N2 0:19:04.93 | /N3FE4LE
7 1| R BE | 9 | B 2 BE/NVERR 0:19:37.79 | /MEHE
8 | 26| =iFE ¥ | 9 | B RE /N2 0:19:52.44 | INASEHE
9 |25| =& F"4E | 8 | B FEINEESR 0:20:01.54 | /N34
10 |10| FE & 9 | B RIF/INFERR 0:20:12.34 | /NS4
11 (13| #% —Hi 10| 5 2 EBINFER 0:20:21.64 | IMEEHE
12 | 3| g &= | 9 | B BiR/INER 0:20:33.07 | /ME4LE
13 [11| B B | 9 | X BIRINER 0:20:53.76 | /MEHE
14 (14| kHF 28 | 9 | B RIF/INFERR 0:21:12.28 | /NS4
15 | 9| & MFE | 9 | B Bi2/NER 0:21:29.53 | /MEE
16 | 20| &R —ix | 9 | B IR 0:21:38.30 | /ML
17 | 21| &% /ME | 10 | & TEFE/INER 0:21:4520 | /MEE
18 | 6| R £ | 9 | X EZINER 0:21:47.16 | /N34
19 | 5| B B4 | 8 | B | FEH/NEREEM) |02256.75| /NFAL
20 (12| JEA K | 9 | B BiR/INER 0:23:16.28 | /NFELE
21 (22 |#H VEOD| 9 | K Bi2/NER 0:23:16.82 | /NELE
22 |17 = BFKDH | 9 | X BIR/INER 0:24:03.91 | /NFE4E
23 |24 B &8 | 9 | ¥ R AT /N A 0:24:59.09 | /MEA
24 (27| A #F | 9 | ¥ R/l 0:25:09.13 | /%A
25 (16| FEI X | 9 | B BIR/INER 0:26:31.49 | /MEHE
26 |15 EE =®| | 8 | B BIR/INER 0:27:06.64 | /N34




